ST i FE 1712 XBE B =" T

1| dtEE FLIR 7 83,760| 2,000/ 85,760

2 7k S5k 74,080| 2,000 76,080

3| BF 2451 30,420| 2,000 32,420

4 =47 Iy 23,640| 2,000 25,640

5| %M A HE 61,060| 2,000 63,060

6 L a 1i5i7 23,300| 2,000 25,300

7 28 o BE 18,620| 2,000{ 20,620

8 | #H ; SN AT 21,920| 2,000 23,920

9| EHE x AItE F 10,440( 2,000| 12,440

10| #A sz FH= 10,440( 2,000{ 12,440

11| =W\ =l 7,780| 2,000 9,780

12| &% S 980 2,000 2,980

13| #E= BR 1S 700{ 2,000 2,700

14| T FE 1,880 2,000 3,880

15| #:)I e 1,640( 2,000 3,640

16| L3 R F - 7,780| 2,000 9,780

17! EH K% |JREE (RB->FT&) —JRPRER (FE-21) 14,920| 2,000 16,920 3:06
18| = = JRFTEIR (BL—-ZE) ~IRER EE KR -FRE (KE-2EE) —JRPRER (BEE-& L) 23,540( 2,000 25,540 2:56
191 & R |JRIEE (BR-BE) —IRFE (BE-XKR) —-#H#R CRE-&24E) ~JRPRARE (BHE—-%1L) 21,160| 2,000 23,160 2:31
20| fw@H BH |[JRIERE (BH-HE) —IRFE (BE-XKR) —-#HEHHR CRE-Z24E) ~JRPRAE (BHE—-%1L) 16,920 2,000  18,920| 1:55
21| #H = B |JRIrER (BE-%EE) JRPRFR (BEE-FL) 13,300( 2,000/ 15,300/  1:09
22| BH ;E %10 0| 2,000 2,000

23| ke 5 & [JREBEARRIIRE (FE—-%10) 1,100 2,000 3,100 0.26
24| = " 2 A#HEHERZR (F-oE%EHE) ~aRehEAR (BHeaHE—-2 L) 4,680( 2,000 6,680 0:59
25| #WE . KiE |JREEPR (KE-FE) —IRFHE (RE-LEE) 2IRPAREKR (BHE—-< L) 12,220 2,000 14,220  1:03
26| RS HKHE] |REBHESAE CLRKEI—FE) —IRIER (RE-LEHE) ~JRPRAE (BHE-1L) 12,340| 2,000 14,340|  1:05
27| & ZR (R) [JRAY ZEHRR (RRFHD) —IRFEHR (RE-2EE) ~JRPRER (BHE—~&WL) 13,360| 2,000  15,360| 1:39
28 | FFRL ML |JREEMNEHSR FITL-MRAFH) —IREE FIRFF-FHAR) —IRHEHR GhABR—2EE) ~IRPREAR (BHE—-€ L) 18,380| 2,000 20,380| 2:43
29| KR K JRABRBRRE (RE—-KR) —IREHEHRE (KER—FHAR) —IRFER FAR-ZHE) ~IRFRER (BHE—EWL) 13,360| 2,000{  15,360| 1:22
30| EE ThH  |RENREESE TH-#FZE) ~#PmETHES - ILFR CSE-FEF) —IRISHR G258 E) IRPFREAR (BEE-1L) 17,540| 2,000{  19,540| 1:45
31| MW il |JRFER (AL—-1E2) ~EESHTRESR (8% ->XH) 26,760| 2,000/ 28,760 2:00
32| LS ) |JRIWBAR (BI-E8) —IRHESR (LE5—E2%2) @M THRESER (B2 -X8) 19,280| 2,000{  21,280| 1:31
33| B BE |JREZ (BIR—EL) —JR#HHE (ML—E%) ~RBHEmHTHRESR (B ->XH) 36,320( 2,000 38,320| 4:10
34| BiR ST JREFFR (MWI-#LO) —JREFER GhlO-—E2%) ~BREEHTRESR (8% ->XH) 26,140( 2,000 28,140| 5:03
35 i@ HHER [JREF2 (GHER-FLO) —IRFHR GhlO-1E2%) @AM THESR (EZ2->XKM) 14,240| 2,000 16,240 1:14
36| FI & |JRER (&—b) —JREFEE (ML—E%) ~RBEmH THRESR (B ->XH) 27,680( 2,000 29,680|  3:20
37| ®E = B8 |[JRE&R (BE—-EN) —JRRZE (S—HL) —JRFEHE (ML-18%) ~RETmHETHRESR (LX) 33,180| 2,000 35,180 4:44
38| EiE & Ml |ERRNR URMLERBI ML Z2) —»RITHEE (MILES-ERZEE) ~RERmh THRESR (BREE—-XME) 61,540 2,000 63,540| 2:22
39 =% 2 B [EEANR (BHERANRZ— I FL-mHEs) >RITHE (BRRE-ERZEE) ~meAmith FHRESE RHEE->XME) 68,880| 2,000 70,880| 2:44
40| 13A ¥ R e 0| 2,000 2,000

41| *#& # %FE |JREE (KE-E%) BEWHTHRESR (8% ->XH) 5,740( 2,000 7,740  0:51
42| RiE Rl |IRFER (RB-BHER) —~IREE2 (REER-E%) ~EMmitb THRESR (B -X®) 12,520| 2,000 14,520 1:36
43| Ko X7 |IREE (Ko—/vB) —JRFEE (WE-E%) ~EBRESH THRESR (B ->XH) 17,160| 2,000 19,160 2:08
44| ZlE BB |IREBESR (BB-3HES) -RITE (BBRESE-REEAZEE) ~GREHHTRESR (BREZEE-XHEH) 58,660| 2,000 60,660 2:20
45 | BER BTE] |FUNER/NR BEARRTRI—EARED) —IRIEHGR BEx—-1E2%) ~BEMHTHRESR (2 ->X4H) 11,220| 2,000 13,220  1:47
46 | IR FERS |JREBNER (AREES-ERESHR) JRFHR (BESPR-ES) BEHHTHESR (EZ->XH) 21,300( 2,000  23,300{ 2:19
AT | B BB LWL —IL (JBE—FEEE) —-RIiTHE FEETE-REMEE) ~GEREHHTHRESR BEZEE-XH) 87,760 2,000 89,760 3:19
48| AR BFHAER 2,000




